Handout for Adequacy of Solutions – Chapter 04.07

SET ONE
The solution to 
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Make a small change in the right hand side vector XE "vector"  of the equations
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Make a small change in the coefficient matrix XE "matrix"  of the equations
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SET TWO
The solution to 
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Make a small change in the right hand side vector XE "vector"  of the equations. 
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Make a small change in the coefficient matrix XE "matrix"  of the equations.


[image: image11.wmf]ú

û

ù

ê

ë

é

=

ú

û

ù

ê

ë

é

ú

û

ù

ê

ë

é

7

4

001

.

3

001

.

2

001

.

2

001

.

1

y

x



[image: image12.wmf]ú

û

ù

ê

ë

é

=

ú

û

ù

ê

ë

é

997

.

0

003

.

2

y

x


_1257425866.unknown

_1257425932.unknown

_1294125041.unknown

_1294998357.unknown

_1257425893.unknown

_1048075369.unknown

_1050140597.unknown

_1050140989.unknown

_1257425850.unknown

_1050140958.unknown

_1048075601.unknown

_1048075306.unknown

